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Question Number : 1 Question Id : 5400732601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the primary objective of research methodology?

Options :

1. To collect data randomly.

2. To systematically investigate, analyze, and interpret phenomena.
3. To make assumptions without evidence.

4. To generalize findings without analysis.

Question Number : 1 Question Id : 5400732601 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Question Number : 2 Question Id : 5400732602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is a type of social research?
Options :

1. Physical research

2. Chemical research

3. Qualitative research

4. Mathematical research

Question Number : 2 Question Id : 5400732602 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 3 Question Id : 5400732603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What are the basic elements of social research?
Options :

1. Concept, variables, theories, operational definition.
2. Hypothesis, assumptions, conclusions.

3. Observations, opinions, analysis.

4. Data, interpretation, findings.

Question Number : 3 Question Id : 5400732603 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 4 Question Id : 5400732604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which country is known for its significant contributions to social work research?
Options :

1. India

2. China

3. Russia

4. USA



Question Number : 4 Question Id : 5400732604 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 5 Question Id : 5400732605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the advantage of using case study methods?
Options :

1. Generalizes findings across various cases.

2. Requires less time and resources.

3. Cannot be used for qualitative analysis.

4. Provides in-depth understanding of a particular case.

Question Number : 5 Question Id : 5400732605 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Question Number : 6 Question Id : 5400732606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the subject matter of social survey methods?

Options :

1. Collecting and analyzing data from a sample of individuals or groups to estimate the characteristics of the larger population.
2. Conducting experiments in a laboratory setting.

3. Analyzing historical documents to understand past events.

4. Analyzing textual or visual content to derive meaning.

Question Number : 6 Question Id : 5400732606 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 7 Question Id : 5400732607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which method involves manipulating variables to observe the effects on participants?
Options :

1. Social Survey Methods



2. Experimental Methods
3. Historical Methods
4. Content Analysis Methods

Question Number : 7 Question Id : 5400732607 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 8 Question Id : 5400732608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What do historical methods primarily focus on?
Options :

1. Predicting future trends.

2. Analyzing current societal structures.

3. Understanding past events and contexts.

4. Experimenting with variables to observe outcomes.

Question Number : 8 Question Id : 5400732608 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 9 Question Id : 5400732609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the primary purpose of content analysis methods?
Options :

1. Analyzing textual or visual content to derive meaning.

2. Conducting experiments to observe outcomes.

3. Surveying individuals to estimate population characteristics.
4. None of these

Question Number : 9 Question Id : 5400732609 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Question Number : 10 Question Id : 5400732610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

What are the various forms of data that can be collected?
Options :

1. Textual only

2. Numerical only

3. Textual, numerical, visual

4. Visual only

Question Number : 10 Question Id : 5400732610 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Question Number : 11 Question Id : 5400732611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which method involves systematically observing and recording behaviors or phenomena?
Options :

1. Interview

2. Questionnaire

3. Schedule

4. Observation

Question Number : 11 Question Id : 5400732611 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :

1. Q&P R

2. gyt
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Question Number : 12 Question Id : 5400732612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the purpose of research design?

Options :

1. To generate hypotheses.

2. To outline the overall plan for conducting the study.
3. To analyze data.

4. To interpret findings.

Question Number : 12 Question Id : 5400732612 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Question Number : 13 Question Id : 5400732613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is a hypothesis?

Options :

1. An opinion.

2. A testable statement predicting the outcome of a study.
3. Arandom guess.

4. A historical fact.

Question Number : 13 Question Id : 5400732613 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 14 Question Id : 5400732614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which statistical concept assumes a normal distribution of data?
Options :

1. Parametric

2. Nonparametric

3. Descriptive

4. Inferential

Question Number : 14 Question Id : 5400732614 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 15 Question Id : 5400732615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which statistical test is used to compare means between two groups?
Options :

1. Chi-square test

2. ANOVA

3. t-test

4. Correlation

Question Number : 15 Question Id : 5400732615 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 16 Question Id : 5400732616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which statistic is most affected by outliers?
Options :

1. Mean

2. Median

3. Mode

4. Dispersion

Question Number : 16 Question Id : 5400732616 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 17 Question Id : 5400732617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the purpose of tabulation and classification in research?
Options :

1. To generate hypotheses.

2. To conduct experiments.

3. To interpret findings.

4. To organize data systematically for analysis.

Question Number : 17 Question Id : 5400732617 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 18 Question Id : 5400732618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is an essential component of a standard research report?
Options :

1. References, footnotes, abstract, bibliography

2. Conclusions only

3. Introduction only

4. Data analysis only



Question Number : 18 Question Id : 5400732618 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Question Number : 19 Question Id : 5400732619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What are the different steps involved in report writing?

Options :

1. Only writing.

2. Planning, researching, organizing, writing, revising, editing, presenting.
3. Only researching.

4. Only revising.

Question Number : 19 Question Id : 5400732619 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 20 Question Id : 5400732620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which statistical method is used to predict the relationship between variables?
Options :

1. Chi-square test

2. ANOVA

3. Correlation

4. Regression

Question Number : 20 Question Id : 5400732620 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 21 Question Id : 5400732621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the utility of research methods?

Options :

1. To systematically investigate, analyze, and interpret phenomena.



2. To make random assumptions.
3. To prove preconceived notions.
4. To ignore evidence.

Question Number : 21 Question Id : 5400732621 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 22 Question Id : 5400732622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is an example of applied research?
Options :

1. Studying the behavior of particles in physics.

2. Exploring mathematical theories.

3. Developing a new drug to treat a disease.

4. Analyzing historical events.

Question Number : 22 Question Id : 5400732622 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 23 Question Id : 5400732623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
What are variables in social research?
Options :

1. Fixed constants.

2. Factors that can change or vary.

3. Unchangeable parameters.

4. Qualitative descriptions.

Question Number : 23 Question Id : 5400732623 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Question Number : 24 Question Id : 5400732624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

What is the concept of operational definition?

Options :

1. Defining variables in terms of how they will be measured or manipulated in a study.
2. Defining variables without measurement.

3. Ignoring variables.

4. Randomly assigning meanings to variables.

Question Number : 24 Question Id : 5400732624 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 25 Question Id : 5400732625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the significance of social work research in India?

Options :

1. It addresses social issues and contributes to policy-making and social change.
2. It has no significance.

3. It only focuses on individual cases.

4. It ignores societal problems.

Question Number : 25 Question Id : 5400732625 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 26 Question Id : 5400732626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the procedure for conducting a social survey?

Options :

1. Randomly guessing outcomes.

2. Ignoring data.

3. Systematic collection and analysis of data from a sample of individuals or groups.
4. Conducting experiments only.

Question Number : 26 Question Id : 5400732626 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 27 Question Id : 5400732627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which method involves studying past events through documents and artifacts?
Options :

1. Social Survey Methods

2. Historical Methods

3. Content Analysis Methods

4. Experimental Methods

Question Number : 27 Question Id : 5400732627 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 28 Question Id : 5400732628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the primary advantage of content analysis methods?
Options :

1. It is time-consuming.

2. It cannot analyze textual content.

3. It only focuses on numerical data.

4. It can analyze large volumes of data quickly.

Question Number : 28 Question Id : 5400732628 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Question Number : 29 Question Id : 5400732629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which source of data collection involves direct observation?
Options :

1. Observation

2. Interview

3. Questionnaire

4. Schedule

Question Number : 29 Question Id : 5400732629 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :
1. 3aclich
2. &P R
3. gyraet

4. ST

Question Number : 30 Question Id : 5400732630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
What are the principles of data collection?
Options :

1. Random guessing.

2. Accuracy, reliability, validity.

3. Biased sampling.

4. Ignoring data.

Question Number : 30 Question Id : 5400732630 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Question Number : 31 Question Id : 5400732631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the purpose of sampling in research?

Options :

1. To select a subset of individuals or groups from a larger population.
2. To ignore certain groups.

3. To manipulate variables.

4. To generalize without evidence.

Question Number : 31 Question Id : 5400732631 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

STHY H THATHRUI BT ST 1 87

Options :

1. SS1 1aTEl ¥ Al a1 gl & Th IUHE BT I DAl
2. 5B JHgI B AT BT

3. TR H GG BT

4. ToFT ST & IHRAGRO H=AT|

Question Number : 32 Question Id : 5400732632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which type of research design outlines the steps to be taken in conducting a study?
Options :

1. Exploratory

2. Descriptive

3. Explanatory

4. Experimental



Question Number : 32 Question Id : 5400732632 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :

1. QIS
2. guiTES
3. ARSHB
4. Ui

Question Number : 33 Question Id : 5400732633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is a null hypothesis?

Options :

1. A statement that there is a significant difference between specified populations.
2. A statement that predicts a relationship between variables.

3. A statement that there is no significant difference between specified populations.
4. A statement that is never tested.

Question Number : 33 Question Id : 5400732633 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

T IR T 82

Options :

1. U& %A & Ay a1t & ot ve weayf siaR 3

2. U& SO S TR & i U J&Y BT yiasraroh Hrar g
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Question Number : 34 Question Id : 5400732634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which statistical method is used to test for differences between three or more groups?
Options :

1. ANOVA

2. t-test

3. Chi-square test

4. Regression

Question Number : 34 Question Id : 5400732634 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :

1. ANOVA

2. t-test

3. Chi-square test

4. Regression

Question Number : 35 Question Id : 5400732635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the primary difference between parametric and nonparametric statistics?

Options :

1. Nonparametric statistics make assumptions about the population, while parametric statistics do not.
2. Parametric statistics make assumptions about the population, while nonparametric statistics do not.



3. They are the same.
4. They are not used in social research.

Question Number : 35 Question Id : 5400732635 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

R E IR RIS sidwel & st UTufires iR F1 2

Options :

1. IR 3 SERem & TR F 4RO SHI §, Sefs Rifee e Tar T8t al|
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3.399ME.
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Question Number : 36 Question Id : 5400732636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the most commonly used measure of central tendency?
Options :

1. Median

2. Mode

3. Dispersion

4. Mean

Question Number : 36 Question Id : 5400732636 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
et ughl BT T e ITTNT fasar S arer [T 1 82
Options :

1. ATfeT
2.8

3. g
4. 99

Question Number : 37 Question Id : 5400732637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the purpose of using diagrams, maps, and graphs in research?
Options :

1. To complicate findings.

2. To visually represent data and enhance understanding.

3. To ignore data.

4. To hide information.

Question Number : 37 Question Id : 5400732637 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

U H SR, AT SR U1 BT ITUN F3 BT 359 T 82
Options :

1. frsmut &t Sifed =

2. ST B! T U J TRId HRAT 3R T P! qgHT

3. ST Bl 3T BT

4. IHBRY fesar

Question Number : 38 Question Id : 5400732638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



What should be included in a standard research report?
Options :

1. Conclusions only

2. Introduction only

3. References, footnotes, abstract, bibliography

4. Data analysis only

Question Number : 38 Question Id : 5400732638 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
T& A 2y RUTe § a1 i foar S anfee?
Options :

1. bad ey

2. BId GR=H

3. HaH, Bedle, IR, TU &l
4. 321 fI=aIw0T Had

Question Number : 39 Question Id : 5400732639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
What is the first step in report writing?
Options :

1. Planning

2. Researching

3. Organizing

4. Writing

Question Number : 39 Question Id : 5400732639 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
RO R § Uga eH AT R?
Options :

1. QIS ST

2. MY BT

3. HARYd BT

4. =

Question Number : 40 Question Id : 5400732640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which statistical method is used to determine the strength and direction of the relationship between two variables?
Options :

1. Chi-square test

2. ANOVA

3. Correlation

4. Regression

Question Number : 40 Question Id : 5400732640 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :

1. I-TpTER TR0

2. TArar

3. GgYEY

4. Ui



Question Number : 41 Question Id : 5400732641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What distinguishes pure research from applied research?

Options :

1. Pure research seeks to expand knowledge, while applied research aims to solve practical problems.
2. Applied research seeks to expand knowledge, while pure research aims to solve practical problems.
3. Both are the same.

4. Neither aims to solve practical problems.

Question Number : 41 Question Id : 5400732641 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :

1. Y& ST T BT [IIR BT A1641 ¢, Sl AT ST BT 579 ATIGIND FHTSH P 56 PR |
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Question Number : 42 Question Id : 5400732642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which theory of social research focuses on understanding social phenomena from the perspective of those involved?
Options :

1. Positivism

2. Functionalism

3. Constructivism

4. Structuralism

Question Number : 42 Question Id : 5400732642 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :

1. U&diq

2. PRAHBAG

3. A

4. XA

Question Number : 43 Question Id : 5400732643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What is the purpose of operational definitions in social research?

Options :

1. To ignore variables.

2. To define variables in terms of how they will be measured or manipulated.
3. To make random assumptions.

4. To generalize findings.

Question Number : 43 Question Id : 5400732643 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
T ST o uRare aRuTTel o1 Seg o1 32
Options :

1. TR} & A BT



2. R b1 39 oo & uRHTiId =1 o I8 52 |IdT a1 }IR b S|
3. gTefese YR ST
4. fAepuf &Y I ST

Question Number : 44 Question Id : 5400732644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In what ways does social work research contribute to society in India?
Options :

1. By addressing social issues and informing policy-making.

2. By ignoring societal problems.

3. By conducting experiments only.

4. By focusing on individual cases only.

Question Number : 44 Question Id : 5400732644 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

YR & G B g™ 5 die 3 TSl 8§ GTgH a1 82
Options :

1. AT el o1 HSIfd Fxab SR =fifa-fafo & gfad & |
2. TS FHRITST BT TR B |

3. ad TN &1 e b |

4. Had TfHRIT HIH IR AT Diad HID |

Question Number : 45 Question Id : 5400732645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

What distinguishes case study methods from other research methods?
Options :

1. They generalize findings across various cases.

2. They require less time and resources.

3. They cannot be used for qualitative analysis.

4. They provide in-depth understanding of a particular case.

Question Number : 45 Question Id : 5400732645 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

F e faftrn &) e Srgier fafert § o arer e g2
Options :

1. 3 faftrs Al & Pl & ariied BRd B
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Question Number : 46 Question Id : 5400732646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a type of experimental method?
Options :

1. Field experiment

2. Case study

3. Laboratory experiment

4. Quasi-experiment

Question Number : 46 Question Id : 5400732646 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 47 Question Id : 5400732647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Content analysis method is used for:
Options :

1. Analyzing historical data

2. Analyzing quantitative data

3. Analyzing qualitative data

4. Analyzing experimental data

Question Number : 47 Question Id : 5400732647 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :

1. BfeeTRIeh St o1 faetwur
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3. OMAD Sl BT fa=awor

4. YT ST T fa=aiyur

Question Number : 48 Question Id : 5400732648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
What are the sources of data in research?
Options :

1. Survey and interview

2. Experimental and non-experimental

3. Primary and secondary

4. Qualitative and quantitative

Question Number : 48 Question Id : 5400732648 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :

1. FAEfUT 3R HIETDBR

2. TR SR IR-TAES

3. U SR AreAtis

4. TOTEHS 3R HEATHS

Question Number : 49 Question Id : 5400732649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Sampling in research refers to:

Options :

1. Collecting data from a small portion of the population
2. Collecting data from the entire population

3. Conducting experiments in a controlled environment



4. None of the above

Question Number : 49 Question Id : 5400732649 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 50 Question Id : 5400732650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which method of data collection involves direct observation of phenomena?
Options :

1. Interview

2. Questionnaire

3. Survey

4. Observation

Question Number : 50 Question Id : 5400732650 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Question Number : 51 Question Id : 5400732651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which one of the following is not the objective of the Competition Act, 2002?
Options :

1. Prohibition of Restrictive Trade Practices

2. Prohibition of Dominant Position

3. Prohibition of Anti-Competive agreements

4. Regulation of combinations.

Question Number : 51 Question Id : 5400732651 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Frfeed & 3 o a1 ufawayf i 2002 &1 38 T8 22
Options :

1. vfde TS ATUR HdTER CARELL]

2. Uy Rufd 1 Ay

3. et Aeft PRRT 71 A8y

4, TerH 1 fafge

Question Number : 52 Question Id : 5400732652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Match the items in List | with List Il.

List | List I
a) Planning Commission . 1993
b) Competition Act in. 2002
c) Adrian Cadbury Committee . 1951
d) Rangarajan Committee on Disinvestment in PSES iv. 1991

Options :

1.a) i, b)ii, ¢) iii, d) iv
2.a)iil, b)i,c)ivd)ii
3.a)iii, b)ii,c)iv, d) i
4.a)iii, b)ii, ¢) i, d) iv

Question Number : 52 Question Id : 5400732652 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



-l Fr Fer dr gl @ gAfoa Fifew

- -l
a) ST 3T i. 1993
b) ufawae sfafaas ii. 2002
c) vfzga Fs«ir fafa iii. 1951
d) ShRY 8 & 3uaAT # [FAy geeht Eriew @@ | iv. 1991

Options :

1. a)1i, b) ii, ¢) iii, d) iv
2.a)iil, b)i,c)ivd)ii
3.a)iii, b)ii, c)iv, d) i
4.a)iii, b)ii, c) i, d) iv

Question Number : 53 Question Id : 5400732653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

‘RWA” with regard to capital adequacy stands for Which of following?
Options :

1. Risk withdrawal Adjustment

2. Risk withdrawal Arrangements

3. Risk Weighted Assets

4. Risk Free Weighted Assets.

Question Number : 53 Question Id : 5400732653 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :

1. Siifew Mt srie

2. Sifem M eawn

3. SR YiRd dufrat

4. SR\ gar WA Hufrai

Question Number : 54 Question Id : 5400732654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which one among the following is not a part of TRIPS agreement?
Options :

1. Industrial Design

2. Geographical Indications

3. Interior Design

4. Layout design of Integrated circuits

Question Number : 54 Question Id : 5400732654 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :
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3. SfefaRr feargH
4. Udigpd URTY &7 & ey

Question Number : 55 Question Id : 5400732655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Match the items of List | with List Il.

List | List I
(Accounting standard) (Relationship)
a) AS -6 I.  Accounting for consolidated financial statements
b) AS -3 il.  Accounting for fixed Assets
c) AS - 10 ii.  Depreciation accounting
d) AS - 21 Iv. Accounting for cash flow statement.
Options :

1. a) ii, b) iv, ¢) iii, d) i
2. a) iii, b) iv, ¢) ii, d) i
3.) iv, b) iii, ¢) 1, d) i
4.a) i, b) i, ¢) iii, d) iv

Question Number : 55 Question Id : 5400732655 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
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Options :

1. a)ii, b) iv, ¢) iii, d) i
2.a)iil, b)iv,c)ii,d) i
3.a)iv, b)iii, ¢) i, d) ii
4.a)1, b) i, c) iii, d) iv

Question Number : 56 Question Id : 5400732656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The kinked demand curve model of oligopoly was developed by —
Options :

1. Augusting Cournot

2. Stackelberg



3. Edgeworth
4. Sweezy

Question Number : 56 Question Id : 5400732656 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :

1. 3R HRAR
2. RGAT

3. oy

4. WISt

Question Number : 57 Question Id : 5400732657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

If the two regression coefficients are 0.8 and 0.2, then the value of coefficient correlation is.
Options :

1.-0.16

, +0.50

+0.40

3

4.-0.40

Question Number : 57 Question Id : 5400732657 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Ife E&F, TATHF] O 0.8 TUT 0.2 § Y, TgHae Ol &1 Hed g |
Options :

1.-0.16

+0.50

2.

+0.40

3

4.-0.4

Question Number : 58 Question Id : 5400732658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Developed by special projects office at US navy this technique was first formally applied to this planning & control of the Polaris weapon system
in 1958 and worked well is Expediting the completion of that program the technique is known as :

Options :

1. Gantt Chart

2. PERT

3.CRM

4. Milestone budgeting

Question Number : 58 Question Id : 5400732658 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Question Number : 59 Question Id : 5400732659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Match the following items of list-l and list-Il with regard to hypothesis -

testing and indicate the code of correct matching: -

list-| list-lI

a) The ability of test to reject Null I. Level of significance.

hypothesis when it is false.
b) The probability of accepting a false . Type | error
Null hypothesis.
c) The probability of rejecting a true Null . Type Il error
hypothesis due to sampling error.

d) The probability of rejecting a true Null Iv. Power of test

hypothesis.

Options :

1. a) iv, b) ii, ¢) 1, d) il
2. a)iv, b) iii, ¢) 1, d) ii
3.a)1, b) i, c) iii, d) iv
4. a)1ii, b)iii, ¢) i, d) iv

Question Number : 59 Question Id : 5400732659 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



aRereusr gfieror & Faftd -l dur G-Il Fr Jet Fr Fere FT qur wer
fAer arer e #1 TaT F?

el il

a) o afiieeasr, Sefe I8 T9d &, FF FEHR i. Hgca Fr
Flal & GIETOT HT JITAr TR

b) T Ied AU IREFeTAT T TSR A I i e | AR
EUPET

c) vidEmelsT qfe & HROT U eI AUoig aishedar | i, @9 Il Jfe
Fr PR P S Fr wlRear

d) T Ter Aot aReeuar & iR fFe = iv.  OIeToT Y
$r aridehar &THAT

Options :

1. a)iv, b) ii, ¢) i, d) iii
2.a)iv, b)iii, ¢) i, d) ii
3.a)1, b) i, ¢) iii, d) iv
4.a)1ii, b)iii, ) i, d) iv

Question Number : 60 Question Id : 5400732660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Debt financing is a cheaper source of finance because of
Options :

1. Time value of money

2. Rate of Interest

3. Tax Deductibility of Interest

4. Dividends are not payable to lenders

Question Number : 60 Question Id : 5400732660 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

01 famraion fafafad o 9 frad FRul fod &1 1 9% @id g1
Options :

1. YT BT IHY HoT

2. N @)

3. TS BT R Ferdt &l

4, U FURET 1 & g

Question Number : 61 Question Id : 5400732661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The statements containing items such as job title, location, summary, duties, material used, working conditions etc. is called:
Options :

1. Job specification

2. Job evolution

3. Job description



4. Job analysis

Question Number : 61 Question Id : 5400732661 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

BT BT M, PRI, TRIT, BT STAN H TS T3 AN B I fERMST S Fal B SeRIIT H a1l f[aaRvT BT g1 Sl §
Options :

1. S fafeRm

2. S gt

3. B7 fdaRor

4. S fa=eroor

Question Number : 62 Question Id : 5400732662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Consolidated financial statements are prepared on the principles —
Options :

1. In form the companies are one entity, in substance they are separate.
2. In form companies are separate, in substance they are one.

3. In form and substance the companies are one entity.

4. In form and Substance the companies are separate.

Question Number : 62 Question Id : 5400732662 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

fraferfea # ¥ forg Rigia R waferd faxia fdaror duR fea o 8
Options :

1. TR H Ui ue e 8, fbg araa o 3 gy §

2. TR § HUal gue &, fbg arda # 4 T &

3. R H a7 aad § HUai T g

4. YbR H qUT aT&Td § Ui gus §

Question Number : 63 Question Id : 5400732663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Match the items of list | with those of list Il indicate the correct code:

list | list 1l

a) Acid test ratio I.  Profitability analysis

b) Debt service coverage ratio | ii. Activity analysis

c) Debt Equity ratio ii.  Liquidity analysis

d) Stock turnover ratio Iv. Long term solvency analysis

Options :

1. a)ii, b) i, ¢) iii, d) iv
2.a)ii, b) iii, ¢) iv, d) i
3.a)iii, b) iv, ¢) i, d) ii
4.a)iii, b) i, ¢) iv, d) ii



Question Number : 63 Question Id : 5400732663 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

-1 Hr AT &1 -1l BT Fl F @A THAH FT TGN Fe FH TTA P
- ]

a) 3TFcT IETUT 3feTdTcd i, oTevedr faveiyor
b) OT JaT 3MEROT 37T i. PrRIPaTT faReyoT
c) UT {aT THAT 3ITd jii. dTerdr faeeyor

d) Fheer 3MTad 3T iv. SrEeprellel ees &= faeeiwor

Options :

1. a)1ii, b) i, ¢) iii, d) iv
2.a)ii, b)iii, ¢) iv, d) i
3.a)iii, b)iv, ) 1, d) ii
4.a)iii, b) i, ¢) iv, d) ii

Question Number : 64 Question Id : 5400732664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which one of the following is Not correct:
Options :

Profit

Margin of safety = m

Change in contribution

P/V Ratio = _ X 100
Change in sales

2.
; : Fixed cost
BEP (in units) = R ,
Contribution per unit
3.
) ) ) Desired Profit
Required sales to earn desired profit = :
A P/V Ratio

Question Number : 64 Question Id : 5400732664 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

frofifed & 9 oF W wd el 8
Options :
. CIE)
AT 391 TS /A 3O
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Question Number : 65 Question Id : 5400732665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Schedule III part II of the companies Act, 2013 deals with which of the following?
Options :

1. Format of balance sheet

2. Format of profit and loss account

3. Format of trading account

4. Format of cash flow

Question Number : 65 Question Id : 5400732665 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

SO SHRIFET 2013 BT ST 111 U 11 T FEfeiead & § forad dey §
Options :

1. 939 e &1 Uy

2. @MY 3R 81 /A &7 IR

3. AR WId & U=y

4.H S YdTg 1 Uy

Question Number : 66 Question Id : 5400732666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The application of Chi Square test as parametric test will be in which one of the following situations?
Options :

1. Taste of Independence of attributes.

2. Test of goodness of fate of a specific type of distribution.

3. Test for population variance on the basis of small sized sample variance.

4. Test of homogeneity of several population with respect to some characteristic of interest.

Question Number : 66 Question Id : 5400732666 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

P 3 W w3 uRkem wad ot S g 3

Options :

1. 3T AR P (S & T Veont & o F T T[UNich b1 HETT DT TRI&I0T AT
2. 98 3THR & e & FATd Vel & g Tedael 0T B HE BT UREU HAT
3. B 3 SHTHR &b RN B faaRul BT gor1 AT

4. Y 31 eIl & ATl & SR & HE @ BT URET BT



Question Number : 67 Question Id : 5400732667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Operating leverage & financial leverage of a firms are 3 & 2 respectively. If sales increase by 6% then earning before tax will rise by:
Options :

1.0.18

2.0.12

3.0.36

4.0.3

Question Number : 67 Question Id : 5400732667 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

fareit v 1 ufare Iaiasw SR faxhia SHias Ha: 3 3R 2 §1 3 fasht 6% Tgdt 8, Y HR gd oma & af grft
Options :

1.0.18

2.0.12

3.0.36

4.0.3

Question Number : 68 Question Id : 5400732668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which one among the following is not correct

Options :

1. IMF headquarters is in Washington DC

2. IMF has 198 countries as its members

3. IMF is an outcome of the Bretton Woods Conference
4. IMF was found on July 7, 1944

Question Number : 68 Question Id : 5400732668 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
ECEEEIEE R HE

Options :

1. RIS ge1 Iy o1 ey ke S H
2. RIS T BV F 198 Wew §

3. RIS o1 HI Se 5T THT BT URUH 3
4, STRTSTA T PV BT RITTAT 7 JTs 1944 B g3

Question Number : 69 Question Id : 5400732669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Bethel Maine of USA was the pioneer of which one of the following laboratory training methods of employee training:
Options :

1. Transactional analysis

2. Business games

3. Critical incident technique

4. T-group

Question Number : 69 Question Id : 5400732669 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 70 Question Id : 5400732670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Dividends declared by unit trust of India or by mutual fund is:

Options :

1. Fully exempt in the hands of unit holders.

2. Fully taxable in the hands of unit holders.

3. Fully exempt in the hands of individual unit holders and fully taxable in the hands of institutional unit holders.
4. Included in the gross total income but a deduction is allowed under section 80L.

Question Number : 70 Question Id : 5400732670 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

YR gHT ¥ 1 URWRS Y gRT 9ifva smuie:

Options :

1. gfe YRe) & ford quiey & ed @

2. gfe YR & ford guiey q sxara §

3. =fY g YRe! & forg guf U | Hygad quT GRIFTd gfe YRG! & ol quiey ¥ &R arg giar g
4. FHA A AT T SIST A1 § fobeg URT 80L P Sfcidl Fe &l oiiell &

Question Number : 71 Question Id : 5400732671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Under the income tax act 1961 the health and education cess is calculated on the amount of:
Options :

1. Income tax

2. Income tax plus surcharge (if any)

3. Gross total income

4. Taxable income

Question Number : 71 Question Id : 5400732671 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

TR SHAFTH 1961 F S7id WA T4 RI&T PR B 701 B A1t &
Options :

1. AT HIW

2. A B 47 AR R (@FE FE &

3. b Pt A WX

4. PR Y 3T R

Question Number : 72 Question Id : 5400732672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Exemption under 54F of the income tax act 1961, shall not be allowed if the assessee, on date of transfer owns:
Options :

1. Any residential house

2. A residential house which is let out

3. A house which is self-occupied

4. More than one residential house

Question Number : 72 Question Id : 5400732672 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

TR AT 1961 BT YRT 54 Th & Sid HR YR Wigpd e 811 TS GIATARUT P & Pl b g
Options :

1. I AR Yo gt
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Question Number : 73 Question Id : 5400732673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In case the amount claimed by the consumer is 89 lakhs, then which of the following will handle the case?
Options :

1. District consumer redressal forum.

2. State consumer dispute redressal commission.

3. National consumer dispute addressal commission.

4. Supreme Court of India.

Question Number : 73 Question Id : 5400732673 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
fe A6 A T 89 TG 1 IHH 1 a1 {531 8, A Fufifed # 4 S 39 7 IR Sriar s
Options :

1. e SuHiet fFaro wRA

2. G JUHTaT faarg FaroT SR
3. APTF IuHier! faare Faror s
4. YR &1 I AT

Question Number : 74 Question Id : 5400732674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The Directors of X Ltd. resolved to forfeit 2000 equity shares of 10 each. On the shares 7.50 per share was paid up, but the final call of the 2.5 per
share was unpaid. 1000 of the forfeited shares were re-issued at 7 per share capital reserve account will be credited by: —

Options :
1. 4500
2.7500
3.2500
4. 5000

Question Number : 74 Question Id : 5400732674 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

X Ltd. & HATce! 4 =03 10 Ul =M aTel 2000 FILRUT SH=AF BT 801 B3 H1 (A7 foban| 39 Si=l IR =0 7.50 Ul =7 BT Y7 b
T T, TR 0 2.50 UfcT SI=T a1t Sif=TH IraT &1 YT gl a1 T-T AUT| 1000 BT fohd 3f=T BT TG 7 Uil SR BT & ¥ YA
X feam T | ol S ard B S| &1 g iR gl

Options :

1. 4500

2. 7500

3.2500

4. 5000

Question Number : 75 Question Id : 5400732675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Match the items of list | with those of list I| and indicate the correct code
from the following:

list | list Il
a) Cardinal utility analysis I. J.R. Hicks & R.G.D. Allen
b) Ordinal utility analysis ii.  Alfred Marshall
c) Revealed preferency theory . J.R. Hicks
d) Logical ordering analysis iv. Paul A. Samuelson
Options :

1. ) iii, b) iv, ¢) i, d) ii
2. )i, b) i, ¢) iv, d) ii
3. )i, b) iii, ¢) i, d) iv
4. ) iv, b) ii, ¢) iii, d) i

Question Number : 75 Question Id : 5400732675 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

fArfaf@a F=-1 Fr Ach #1 G-Il FT #7el & q@re Fae F T Fe FH ade
FI

-l -
a) EIEEs 39AEEr Feewor .  SN.3N. e va ARSI T
b) FHaT= IYAEET Feevor ii. 3Tcths AT

c) Wehe AT Feeyor i.  SN.3R. Rew
d) drfereh ha=gel faveiyor iv. diel T. dFgerde
Options :

1. a) iii, b) iv, ©) i, d) ii
2.a)ii, b) i, ¢) iv, d) iii
3. )i, b) iii, ¢) ii, d) iv
4.a) v, b) i, ¢) iii, d) i

Question Number : 76 Question Id : 5400732676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The area under the normal curve covered within g £1.96 o limit is?

Options :
1.0.95
2.0.68
3.0.5
4.0.99



Question Number : 76 Question Id : 5400732676 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

WA g% @& Y £1.96 ¢ HHAT # 3T aTaT &7 Fol &7 T 8T 8

Options :
1.0.95
2.0.68
3.05
4.0.99

Question Number : 77 Question Id : 5400732677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which are the following formulae is used to calculate the degree of combined leverage?
Options :

1. ComQ27ansAeng.jpb

2. ComQ27ansBeng.jpb

3. ComQ27ansCeng.jpb

4. None of these

Question Number : 77 Question Id : 5400732677 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Tga Has Bt A B 0T & fore fafofad g3 & § fordest o fova Srar @

Options :
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Question Number : 78 Question Id : 5400732678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0

If stock turnover ratio is = 6 times

Average stock = 8000

Selling price = 25% above cost

What is the amount of gross profit?

Options :
1. 2000



2. 4000
3.10000
4.12000

Question Number : 78 Question Id : 5400732678 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
afe -
TETeraT 3MTadl 3T = 6 =
e Efaar = 8000
[T How = anra @ 25% 3170 g dr Fehel orer i Tl Far gef?

Options :
1. 2000
2. 4000
3.10000
4. 12000

Question Number : 79 Question Id : 5400732679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

In capital budgeting, the term capital rationing implies:
Options :

1. That no retained earnings are available.

2. That limited funds are available for investment.

3. That no external funds can be raised.

4. That no fresh investment is required in current year.

Question Number : 79 Question Id : 5400732679 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Uit st & goft =i & areqd B
Options :

1. Y e o Suere et 8
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Question Number : 80 Question Id : 5400732680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

when RBI grants loan to commercial banks and changes interest on it, it is called:
Options :

1. Repo rate

2. Revenue Repo rate

3. Sweep stack rate, basic rate

4. Bank rate

Question Number : 80 Question Id : 5400732680 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
TS SRS 3T, AUTRS Sah! BT HUT <Al § 3R I TR TS IS BT ¢ dl 39 Hedl ©

Options :

: No Calculator :

: No Calculator :

: No Calculator :

: No Calculator :

: No Calculator :



1.3

2. frad Y ¥e

3. WU R Y, IR e
4.9H %

Question Number : 81 Question Id : 5400732681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

X. Ltd. Purchased 70% of the shares of Y. Ltd. at a Price of Rs. 1,00,000, share capital of Y. Ltd. was Rs. 70,000 and its accumulated profits
amounted to Rs. 90,000. What would be the amount of minority interest in the consolidated balance sheet?

Options :

1. Rs. 25,000
2. Rs. 70,000
3. Rs. 1,00,000
4. Rs. 48,000

Question Number : 81 Question Id : 5400732681 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :

1. Rs. 25,000

2. Rs. 70,000

3. Rs. 1,00,000

4. Rs. 48,000

Question Number : 82 Question Id : 5400732682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

which of the following is not a feature of payback period method?
Options :

1. It is simply method of cost recovery & not of profitability

2. It does not consider the time value of money

3. It does not consider the risk associated with the projects.

4. It is very difficult to calculate.

Question Number : 82 Question Id : 5400732682 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 83 Question Id : 5400732683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0



Match the items in list | with list Il.

list | list I
a) Section 80 D I.  Pension fund of LIC
b) Section 80 CCC il. Interest on loan taken for studies
c) Section 80 G ii.  Health insurance
d) Section 80 E iv. Donation

Options :

1. a) 1, b) ii, ¢) iii, d) iv
2.a)1i, b)iii, ¢) ii, d) iv
3.a)iii, b) 1, ¢) iv, d) ii
4. a)1i, b)iii, ¢) iv, d) ii

Question Number : 83 Question Id : 5400732683 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :

1. a) 1, b) ii, ¢) iii, d) iv
2.a)1, b)iii, ¢) ii, d) iv
3.a)iii, b)i, c)iv, d) ii
4.a) 1, b)iii, ¢) iv, d) ii

Question Number : 84 Question Id : 5400732684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Capital expenditure on scientific research is a previous year, which could not be absorbed due to insufficiency of profit in the relevant assessment
year, can be carried forward for its setting off upto:

Options :

1. Next assessment year

2. Five assessment year

3. Ten assessment year

4. Indefinite number of assessment year

Question Number : 84 Question Id : 5400732684 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Question Number : 85 Question Id : 5400732685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Which of the following techniques for appraisal of investment proposal are
based on time value of money?
a. Accounting rate of return
b. Internal rate of return
c. Profitability index method
d

Earning per share

Options :
1.a.andb.
2.b.and c.
3.a.and d.
4.a.,b.andd.

Question Number : 85 Question Id : 5400732685 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :
l.aQab
2.an"c
3.aQa"d
4.2,bTdd

Question Number : 86 Question Id : 5400732686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The method of training in crafts, trades and technical areas is known as:
Options :

1. Vestibule training

2. Coaching

3. Mentoring

4. Apprenticeship



Question Number : 86 Question Id : 5400732686 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Question Number : 87 Question Id : 5400732687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Match the items of list | and list || and select a correct code:

list | list 1l
a) SEBI I. Exchange for small companies.
b) RBI il.  Secondary market in treasury bill.
c) STCI .  Regulation of secondary market.
d) OTCEI Iv. Ad-hoc treasury bills.

Options :

1.a)iv, b) ii, c) iii, d) i
2.a)iii, b) iv,¢)ii, d) i
3.a)iii, b) i, ¢)ii, d) iv
4.a)ii, b)iii, ¢) i, d) iv

Question Number : 87 Question Id : 5400732687 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
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Options :

1. a)iv, b) ii, ¢) iii, d) i
2. a)iii, b) iv, ¢) ii, d) i
3.a)iii, b) i, ¢) ii, d) iv
4. a)ii, b)iii, ¢) i, d) iv

Question Number : 88 Question Id : 5400732688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical



Correct Marks : 1 Wrong Marks : 0

Financial investments which are issued with detachable warrants and are redeemable after certain period is known as:
Options :

1. Deep discount bonds

2. Secured premium notes

3. Burry bonds

4. Junk bonds

Question Number : 88 Question Id : 5400732688 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Question Number : 89 Question Id : 5400732689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

NAFTA (now USMCA) came into force from January, 1994 embracing:
Options :

1. The USA, Canada, Cuba, Trinidad and Tobago

2. The USA, Canada, Mexico

3. Cuba, Mexico, USA, Havana

4. Trinidad, The USA, Mexico

Question Number : 89 Question Id : 5400732689 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 90 Question Id : 5400732690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which of the following income is not changeable under the head income from Business and profession?

Options :

1. Profit & gains carried on by an assessee during the previous year.

2. Income derived by the trade professionals on similar associations from specific services performed for its members.
3. Income from the activity of owning, or owning & maintaining race horses.

4. Salary received by a partner of a firm from the same firm.

Question Number : 90 Question Id : 5400732690 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 91 Question Id : 5400732691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

The equilibrium level of output for a perfect competitive firm is given by the point where
Options :

1.MR=MC

2. MR <MC

3. MR >MC

4. MR = MC, MC starts rising

Question Number : 91 Question Id : 5400732691 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :

1. MR =MC
2. MR <MC
3. MR >MC

4. MR = MC 3R MC B I e L= grar |

Question Number : 92 Question Id : 5400732692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Indicate the cost of equity capital, based on capital asset pricing, with the
following information:
Beta coefficient = 1.40
Risk free rate of return = 9%
Expected rate of return on equity = 16%
In the market
Options :
1. 0.098
2.0.18

3.0.188
4.0.16

Question Number : 92 Question Id : 5400732692 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :
1.0.098
2.0.18
3.0.188
4.0.16

Question Number : 93 Question Id : 5400732693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
The final step in target marketing is:
Options :

1. Marked Analysis

2. Market positioning

3. Market segmentation

4. Market targeting

Question Number : 93 Question Id : 5400732693 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Question Number : 94 Question Id : 5400732694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Consider the following problem relating to a let-out house property:
Municipal value = Rs. 60,000
Fair rent = Rs. 68,000
Standard rent under rent control Act = Rs. 64,000
Annual rent received = 65,000
The gross annual value of the property will be.
Options :
1. 68000
2. 64000

3. 65000
4. 60000

Question Number : 94 Question Id : 5400732694 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :

1. =Y 68000
2. ¥ 62000
3. T 65000
4. FTY 60000

Question Number : 95 Question Id : 5400732695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Pre—acquisition profit in subsidiary company is considered as
Options :

1. Revenue

2. Capital profit

3. Goodwill

4. Minority interest

Question Number : 95 Question Id : 5400732695 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Question Number : 96 Question Id : 5400732696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Options :

1. Trading up

2. Alteration

3. Simplification
4. Value addition



Question Number : 96 Question Id : 5400732696 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Question Number : 97 Question Id : 5400732697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Franchising is a practice of:

Options :

1. Learning for a prescribed period of time, the right to use firms successful business model and brand.
2. Selling out a successful business & brand.

3. Hiring a firm’s successful business model & brand.

4. None of these.

Question Number : 97 Question Id : 5400732697 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Question Number : 98 Question Id : 5400732698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical
Correct Marks : 1 Wrong Marks : 0
Assertion (A): Job design to a manner in which tasks are put together to
form complete job.
Reasoning (R): The matrix organisation is a project organisation plus a

functional organisation.

Options :

1. Both (A) and (R) are true
2. (A) is true, but (R) is false
3. (A) is false, but (R) is true
4. Both (A) and (R) are false

Question Number : 98 Question Id : 5400732698 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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1.(A) 3R R) T TS 8

2. (A) T8t g, Af (R) TeId &
3. (A) T4 ®, A (R) T8 B
4.(A) 3R (R) SN AT §

Question Number : 99 Question Id : 5400732699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0

Which one of the following will not affect the working capital?
Options :

1. Realisation of cash from debtors.

2. Sale of plant & machinery in cash

3. Issue of equity shares.

4. Redemption of debentures.

Question Number : 99 Question Id : 5400732699 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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Question Number : 100 Question Id : 5400732700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
Physical distribution provides:
Options :

1. Place utility

2. Time utility

3. Place & Time utility

4. From utility

Question Number : 100 Question Id : 5400732700 Question Type : MCQ Option Shuffling : Yes Is Question Mandatory : No Calculator :
None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0 Option Orientation : Vertical

Correct Marks : 1 Wrong Marks : 0
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